BASY XU TR [(HFT)-T]

Bz K4 B | T8 [y i PR (o SRAREL | pr
1 mAR U5 15 |Crepass 1 23 7 1 0| 23
2 EFl BF 19 |Crepass 4 3 18 4 3 0 18
3 alll BX 35 [Crepass 7 14 0 7 0| 14
4 mE 8= 12 |Crepass 3 2 13 3 2 o] 13
5 HH FLA 3 |Crepass 4 8 0 4 0 8
5 IR RRd 17 |Crepass 3 2 8 0 3 2 8
7 BA EF 9 |[Crepass 1 2 7 1 2 0 7
7 5k —=3 11 |PeekaBoo 1 2 7 1 2l o 7
9 IFHE 1% 16 |Crepass 3 6 0 3 0 6
10 AE M 9 |PeekaBoo 1 1 5 1 1 0 5
10 8 B 90 |PeekaBoo 1 1 5 1 1 0f 5
12 Fig BER 16 |PeekaBoo 2 4 o 2| o 4
12 HEA HIH 23 |PeekaBoo 2 4 of 2| of 4
14 INE FETF 10 |Crepass 1 2 0 1 0 2
14 xXH ¥ 14 |PeekaBoo 1 2 0 1 0 2
14 AT AR 33 [PeekaBoo 1 2 0 1 0 2




